Kaprouka W 1

l-BapuaHT
BcTaBp HYyXHOE UMCJIIO:
9 =9 w 9 =3 w 9+ 6
9 .. + 18 - 9 =27 9 - = 63
9 =5 9 =7 4 =9

Kaprouka N 1

2-BapMaHT
BcTaBe HYXHOE UMCJIIO
9 =2 9 = 3 9 = 49
9 9 9 - = 18 63 = 9
9 = 36 81 =9 9 = 45

Kaprouxka N 2

l-papuaHT
Peun nprMeperr:
27 + 3 18 : 9 81 9
9 - 3 36 : 9 59
7 9 27 3 18 2
63 9 54 : 9 9 4

Kaprouka N 2

2-BapMaHT
Peun npuMeperr:
7 7 63 7 9 8
15 5 30 : 6 8 7
4 9 15 : 5 48 8
48 6 4 8 27 3

Kaprouxka N 3

l-BapuaHT
CpaBHM:
9 - 95 -9 54 : 9 * 45 : 5
63 : 9 * 72 : 9 81 : 9 * 36 : 4
9 -7 * 6 -9 18 : 9 * 27 9
Kaprouxka N 3
2-BapMaHT
CpapHM:
9 - 2 * 45 : 9 36 : 9 * 54 : 9
27 + 9 * 27 3 3 -9 * 54 : 6
9 -7 * 7 -9 63 : 9 * 18 : 2

Kaprouka N 4
l-papuaHT

45 : x =5 x + 6 = 54 2 +- x =18

Kaprouka N 4
2-BapMaHT








